

Solve.

$$\frac{1}{3}(5 - 3t) = \frac{5}{6}(t - 2)$$

$$\overset{(6)}{\frac{5}{3}} - \overset{(6)}{\frac{3t}{3}} = \overset{(6)}{\frac{5t}{6}} - \overset{(6)}{\frac{10}{6}}$$

$$* \quad 10 - 6t = 5t - 10$$

$$\overset{-10}{10} - 11t = \overset{-10}{-10}$$

$$\frac{-11t}{-11} = \frac{-20}{-11}$$

$$t = \frac{20}{11}$$

Method 2...

$$\overset{(6)}{\frac{1}{3}}(5 - 3t) = \overset{(6)}{\frac{5}{6}}(t - 2)$$

$$2(5 - 3t) = 5(t - 2)$$

$$10 - 6t = 5t - 10$$

See previous question

Page 282 #20

$$(12) \frac{x}{3} + \frac{x}{4} = x - \frac{1}{6}$$

$$4x + 3x = 12x - 2$$

$$7x = 12x - 2$$

$$\frac{-5x}{-5} = \frac{-2}{-5}$$

$$x = \frac{2}{5}$$

$$(24) \frac{x}{3} + \frac{x}{4} = x - \frac{1}{6}$$

$$8x + 6x = 24x - 4$$

$$14x = 24x - 4$$

$$\frac{-10x}{-10} = \frac{-4}{-10}$$

$$x = \frac{4}{10}$$

$$= \frac{2}{5}$$

Concept reinforcement

Page 282-283 19 a,c,d 21 (do checks)